Math 230 Review Answer Key
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85.5324 ft 86.1.725 m 87.590 ft 88. 144
89.a) 7x—6 b) 50 ¢) =27 90.a) x* +6x’ —67x* —528x—756 b) —3300 c) 1824

91. 3x+8 92. 10x* —103x +153 93. 2x+h—-10
94. 2x+h-9 95. 2x+h+8 96. 6x+3h—11
97. 0 98. 40

99.a) 6x+17 b) 6x+14 ¢) 35 d) —10
100. a) x* —25x+126 b) x> —=7x—-27 ¢) 60 d) 17
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105. {24} 106. {7} 107. {25} 108. {13}
109. f7'(x)=In(x-9)-6 110. f7'(x)=¢""" =10
111. f'(x)=In(x-4)+5 112. f'(x)=e"+6
13. £ (x)= x;6 114. [ (x)= 3’“;30
115, F(x)=22H! 116, £ (x)=—2
X 3x—4

117. 74 cents 118.4.2 yr 119. In 2013 (16.4 yr)
120. 81.2 min 121.10.2 yr 122. 6894
123. 105,561 cells 124. 1.4 g
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Vertex | (-7,1) (16,1)
y-int | (0,14+/7) (0,-3), (0,5)
x-int (-6,0) (15,0)
131.
Center (—4,6)
Radius | r=5
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Center (1,-5) (-3,2)
a b a=3,b=4 a=5,b=3
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Center | (0,0) (-3,3)
a b a=6,b=4 a=2,b=5
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